
SIMPLIFYING RADICAL EXPRESSIONS 
 
Perfect Squares: 1, 4, 9, 16, 25, ____, ____, ____, ____, ____, ____, 144… 
    
   x2, x4, x6, ____, ____...  Exponents must be __________. 
 

25  is read “the square root of 25”. 
 

5=25 because 52 = 25 =36 6 because ____ = ____  _____=100  =49 _____ 
 

36 a=a because (a3)2 = a6 816 m=m because ____ = ____ =y10 _____  =a2  _____ 
Hint: Divide the exponent by _______. 
 
In the expression a , the  is called the radical and a is called the radicand. 
 
Simplify (Simplifying Perfect Squares): 
 

1.  4                   2.  16                  3.  100                   4.  8a                    5.  12w  
 
 

6.  106ba           7.  29a               8.  6481m              9.  12449 ba         10.  614121 yx  
 
 
Simplify (Simplifying Radicals that are not Perfect Squares): 
 
1.  52=5•4=20   2.    3.  34=316=48  
 
 
4.    5.   6.   
 
 

7.  aa=aa=a 245   8.   9.   =  
 
Simplify: 
1.  18           2.  125           3.  72           4.  180           5.  3a           
 
 
 

6.  7b           7.  11m   8.  5775 yx            9.  71127 ba            10.  4732 ba    
 
 
 

11.  89a            12.  745a   13.  6236 yx        14.  82012 yx            15.     200   
 
 

16.  196             17.  yx463   18.    19.    20.   


